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2022 (A)
SSC PART-| (9th CLASS)

. MATHEMATICS (SCIENCE GROUP) GROUP-I e - o
TIE ALLOWED: 2.10 Hours SUBJECTIVE ULe
MAXIMUM MARKS: 60 :
NOTE: Write same question number _i;.@;:wé.{;.jlfﬂgf.f (‘/Jﬁf.’;}?ﬂ[ﬁ}dl}”tﬁjgéﬁ}fﬁ -

and its part number on answer book, as given in the question paper.
SECTION-I Jil.»

2. Attempt any six parts. 12=2x6 S e linig e 3 2y
()  Define transpose of a matrix. Eml sy )
— r _
(i) Find 34 - 2B A:F 2},3:[ o 7} R 2}3{ 0 7}“5(#3,4—28 (ii
3 4 4 B 13 4 -3 8
(i)  Evaluate % BEA O IO L ()
(iv)  Simplify (=7 + 3i) (=3 + 2i) and EARF  avbi f (=T+30)(=3+2) (v
write the answer in the form g + bi
(v)  Express 9.018 x 10™* in ordinary notation. ..qquf(): J’(lpf 9.018 x 107° (v)
(vi)  Evaluate log512 fo the base 242 log512 to the base 242 g med  (vi)
(vii) What is meant by rational expression in its lowest form? e Al de (i)
(viii)  Simplify fﬁuﬁ;}[ﬁ-—ﬂ (J"z‘+ij[\/§—iJ 2 il
\ \B \fg \ \E \fg :
(x) Factorize x'+ . -3 -3 Eef ()
X X
3. Attempt any six parts. 12=2x6 Efewrling e 8 340y
()  FindHCF of 102xy%z, 85x’yz, 187xyz’ 102xy°z, 85x°yz, 187xyz* -y Jp e ()
(i)  Solvetheequation .21 +4 =Jr—1 J2r+4=Jr=1 g lfetle (i)
(i)  Define linear inequality. A St Enk (i)

x—-2y=-2 -u:/?:"”u:'gJ " ul'm' pzﬁi./ﬁ;u;gﬁ y=mx+c falsudffﬁ (iv)

(iv)  Find value of ‘m" and ¢’ ofline x —2y = -2 by expressingitinthe form y =mx +c¢
(v)  Verify whether point (0, 0) lies on line -ufgé.f;l:,; 2x—y+1=00(0, 0) /T4 ()
2x -y +1=0 ornot.

(vi)  Find mid point of the line segment —nliny AB BBz S Bk B(6,1) o A(-8, 1)Lz (vi)
joining the A(—8,1)and B(6,1)

(vii)  Define equilateral triangle. _q)’.@}g" ELEE U SLE  (vii)
(viii) Whatis meantby $.5.5 5552 ‘cilple LSS LSS (il
(x) Findvalueof 7’ and *’ ) g (i)
me M
75° x4 VP




5 (2)
4. Attempt any six parts. ., 12=2x6 -ﬁ{fagiﬁﬁlzlgc,df A4
W Fhedvsntmangp e P B 2w e St A D ABC SELIGES )

is equilateral triay is/bisector of Z4 |, then find the value of unknowns x° and z°. =" .

4

B D C _ ; -
e bt QST A IS ol sl P S iBiun 8em 1 6om 10 cm WS L s S (i)
(ii) If 10 cm, 6cm and 8 cm are the lengths of a triangle, then verify that sum of measures of two sides
of a triangle is greater than third side?
(i) Inisosceles A PQR shown in figure, N AT -wafuu,u‘;ﬁ APQR FJ8 i)
find the value of x and ¥ :
10¢ b

Q 6emy ¥ &
L bbb PP L Led S x 17 s x B ANS L ()
(iv)  The three sides of triangle are of meagure 8, x, 17 respectively. For what value of  xwill it
become base of a right angled trianglg?
(v)  Verify that the given triangle having e W A LR AT XSy T )
measures of sides is right-angled trigngle or not? a =9cm. b =12cm, ¢ =15cm
(viy  Define altitude of a triangle.

LSSl e (i)

(vi)  Find the area of given figure. _J_/?}’”J;Kfﬁfw (vii)
| - o
cm o 4cm p
(viiiy  Constructa A XYZ in which 4mﬁ =55cm, mZX =4.5¢cm, mLZ 2.900 ui';fu_’ bXYZ &4 (vii))
(ix)  Define incentre of a triangle. -;):/...A,J/’J (in centre) f/duﬂ/z/ﬁaﬁ' (ix)
SECTION-II Tfﬁ)pﬂ}

24=8x3 w9y N feinleinde O 2
NOTE: Attempt any three guestions. Question No.9 is compulsory.
5.(A) Solve with the help of Cramer's rule. 4x +y=9, -3x—-y=-5 -_éd’:.:ju(uﬁﬁ'ﬁﬁ/ (-5

g a+b b b+c c+a
(B) Use laws of exponents to show that. { -Jif,— J % { {7} X [ i—" ) =1 néqb"aud@ﬁf&ﬁa! (<)
X J

(1.23) (0.6975)

6.(A) Use logarithm to find the value,of -g{f}b’daﬂé_}uwl/ﬁ@ (-6

| (0.0075)(1278)
' f 1 . i )
(B) If ¢ =+/5+2, thenfind the*alueof q° - s Sebed - _12_ wog=Vv5+20 (L)
| 4
| " " N - 2
7.A) If (x + 2) is a factor of |y edd kil AnE 3 - dkx +11x - 6 G (x+2) i (U7

3x% = 4kx + 11x — 6, then find the value of k.

(B) Perform the indicated operations and simplify to the lowest form - :/ﬁufﬁoj}ub«c,é,ffiwfééﬁw ()
x3—8xx2+6x+8 " x3—8xx2~|-6x+8

P-4 x—2x+l | Wi-4 x—2p#l
8.(A) Find the solution set of the given equation. (x-3) _ T . -Q)?:L"cffd"(:aiwﬁ?d: ()-8
6 9 ’
(B) Constructa AABC. Draw the perpendicular bisectors - ,u:f"?:.&/t o Wl il ABC &b ()
of its sides. mAB =2.4em, mAC =32cm, mLA4 =120°
9, Prove that the right bisectors of the sides of quﬁ_ﬂ)ﬁ?ﬁwtd}ﬁi& le.&t"“‘fg/ g,[/:-.‘b‘ -9

a triangle are concurrent.

_OR b : )
Prove that parallelograms on equal bases _ujdmb:uf)}délwaidJlPdUCLﬁM/.»l(’5I:-{uw'sﬂ/.f St
and having the same(or equal) altitude are equal in area.

29(SCIENCE GROUP)-2022(A)-70000 (MULTAN)



PAPER CODE
NUMBER: 1195

" MATHEMATICS (SCIENCE GROUP) GROUP-|
OBJECTIVE (5.0

TIABE ALLOWED: 20 Minutes

2022 (A)
SSC PART-l (9th CLASS)

(10D
A

r - .?.dj (:Aj ujl/) d’}y

220 = =h

MAXIMUM MARKS: 15

15= Af

A | SR Gl N erne b s Es L Q6317 - f L& D C B A Wzl Ly oS
/;/.J'y‘Lﬂ g’;.bt:f/dfwuxﬂgrdﬂ/c‘«; 36)/'; _ffJﬂbkuliaJﬁJuJﬂJ;_/“/ ' L d.fJu:xizu){.zc"_.J 'ZJ
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/ J’f}._«wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

point!pdints.
(A) 1 (B) 2
(2) In a parallelogram opposite angle are:
(A) Unequal 47 (B) Equal 4L«
(3) The right bisectors of the sides of a triangle are:
(A) Congruent J‘L?*‘
(4) Symbol used for similarity is:
(A) ="
(5) Area of parallelogram =
(A) Length x length 1/ x J1/
(C) Length x width JU‘;:, X du

(6) The medians of the three sides of a triangle are:

(1) Two lines can intersect at

(B) Equal 4«

(B) «—

(A) Collinear k% (B) Congruent J’iLP
(7) !: ‘f \%} iscalled ____ matrix.
(A) Zero 4 (B) Unit (dils
(8) The conjugate of 5 + 4i
(A) =5+ 4i (B) =5 - 4i
(9) The logarithm of unity to any base is:
(A) 0 (B) 1
(10) The degree of polynomial 4x* + 2x*y is:
(A) 1 (B) 4
(11) Find m sothat x*+ 4x + m is a complete square:
(A) 8 (B) -8
(12) HCFof a*~b*and o’ - b is:
(A)a—b (B) a +b

W

(13) Astatement involving any

of the symbols <, > < or >iscalled

bl eyt < >

A Ay
GELEE B ()
(C) 3 (D) 4
Slxn YN I oY YT (2)
(C) Concurrent 5% (D) Non-concurrent ,EEJ(T/ |
Gla_ ang Ll aks  @3)
(C) Concurrent i (D) Parallel $15
el ewd L5 ()
(C) "=" ) "~"

= LKL WS (5)
(B) Base x altitude i/ x dqu
(D)-;I}- (Base)(Altitude) —;— a0

wWils_ gbalfwiytled:  (6)
(C)-Concurrent 5% (D) Parallel (515
e b6 s {*/5 0 } (7)
‘ 0 2
(C) Scalar £~ (D) Singular st
e A s+4i (9
(C) 5+ 4i (D) 5 - 4i
_‘le.cff.i E !}f@ K" {JLAUJ 9)
(C) 10 D) e
a8 Ax 4227y (.;{*/?( (10)
(C) 2 D) 3
Kbl s dxem £L2800m (1)
(C) 16 (D) 4
e UK D= wa-p? (12)

(D) a*—ab + b*
<t > Al (13

(C) a’+ab + b*

< > : (A) Equation < lsl~

(B) Identity sewnd & wd 1§72 iilas)
(14) Which ordered pair satisfy the equation y = 2x ?

(A) (2, 1) (B)(1, 2)
(15) Distance between the points (1, 0)and (0, 1) is:
(A) 2 ~ (B) 2

(C) Inequality < isls/f

(D) Linear equation lsbefisf
e Oy Ly =2xeblbibyd (14)

©)(2, 2) (D) (0, 1)
- Jobdlesk (0, 1) (1, 0)46  (15)
(©) 0 (D) 1

29(SCIENCE GROUP)(Obj)( K H H)-2022(A)-70000 (MULTAN)



PAPER CODE 2022 (A) /D A
NUMBER: 1193 SSC PART-l (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| the - h,:,,f (h_-:-d/F u'*/bf) u""p
TARE ALLOWED: 20 Minutes OBJECTIVE u%ﬁ,ﬁ e 20 = =y
MAXIMUM MARKS: 15 15 = /«f

A /’:L):f':}h?duzfcc?'ﬁw,uc_bﬁ u;f';fé.;&.bf_dlr/;{éﬁulﬁ _ugéé_; D .y C:B-A :.:l,lj?.'-ﬁfgid'r/f ko)
4,;__3,__5._91‘le _{Llpk)ufjf‘ﬂfwazr‘dfd_./cé !{J:.??J -fﬁz}ﬁwviﬁaﬂ&gﬂa/f‘{;i_/q Jo¥ b L/}:)/u:fbvyc.ug Wil
Note: you have four choices for each objective type question as A, B, C and D. The choice _Q/QJ};.:,UIV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Astatement involving any
of the symbols <, > < or > is called:
(B) Identity xuné_..ﬁc;f_ /;u(/::*:‘ﬁc.:bl/uﬁ'f
(2) Which ordered pair satisfy the equation y = 2x ?

(A) (2, 1) (B) (1, 2)

(3) Distance between the points (1, 0)and (0, 1) is:
(A) V2 (B) 2

(4) Two lines can intersect at point/points.
(A) 1 (B) 2

(5) In a parallelogram opposite angle are:
(A) Unequal 44

(6) The right bisectors of the sides of a triangle are:
(A) Congruent J’;L?'

(7) Symbol used for similarity is:
(A) "="

(B) Equal 4«
(B) Equalezlx

(B) «——
(8) Areaofparallelogram=__
(A) Length x length dLJ X dLJ
(C) Length x width (122 x {14
(9) The medians of the three sides of a triangle are:
(A) Collinear k% (B) Congruent J“LP

(10) [“Q 0}iscal!ed

matrix.
0 2

(A) Zero 3 (B) Unit (iuwls
(11) The conjugate of 5 + 4/
(A) =5+ 4i (B) -5—4i
(12) The logarithm of unity to any base is:
(A) 0 (B) 1
(13) The degree of polynomial 4x* + 2x”y is:
(A) 1 (B) 4
(14) Find m sothat x* + 4x + m is a complete square:
(A) 8 (B) -8
(15) H.CFof a*—h* and &~ b’ is:
Ay a—b (B) a+b

-LJM i—!f(jko"!kug{j/cu: < > o< L2 U:LfUL/LL’/ (1)
(A) Equation < lsi~
(C) Inequality ;.J;L»,i

(D) Linear equation < lsbeGil
e Oyt Ly = 2x eyl (2)

(C)(2, 2) ‘ G)(0, 1)
ce_ eBlenk (0, 1) #1(1,0)58  (3)
(C) 0 (D) 1
GELE @
(C) 3 (D) 4
Sln LIl ke (5)
(C) Concurrent L% (D) Non-concurrent ,&3!(?/{
il oetgLimlals’ @)
(C) Goneurrent 54 (D) Parallel (15
e e L ()
{C} "= (D) Mo ™

= IKLWISE (8)
(B) Base x altitude ./ x Jg»’d/wl?
1 ) 1 .
(D) E(Base)(Altltude) 5 (o) 61) }
~JLn Sl {loipgleds  (9)
(C) Concurrent &% (D) Parallel ($.15*

! V2 0
e bl S { ; ,/5} (10)

(C) Scalar £° (D) Singular st
e ¥ sea (1)
(C) 5+ 4i (D) 5-4i
wbud A s (12)
(C) 10 (D) e
e a8 4xt 4 2x%y Jf/ff (13)
C) 2 (D) 3
Kbl Prdremd LIS m (14
(C) 16 (D) 4
e A g - b a1 (15)

(C) a*+ab +b* (D) a*-ab + b*

29(SCIENCE GROUP)(Obj)( 3 3¢ )-2022(A)-70000 (MULTAN)



/IR

PAPER CODE 2022 (A) ;
comeER: 1107 SSC PART- (9th CLASS) W
MATHEMATICS (SCIENCE GROUP) GROUP-| ) (o SO G

[
TIME ALLOWED: 20 Minutes

OBJECTIVE (5. a5 = o
MAXIMUM MARKS: 15 15= /tf

Ao L )errojl)jb?L}fkbf‘Z:.__Jﬁy;:c_,ﬁ ug?béié_féld_/_dfr/;{gébﬁlﬁ -u_?éif{...: D . CB:A _:gfﬁ,'ﬁ__hgéd!rﬁ

Lagdrut Kot § 24 Josits BrissPeRo o St S SG Sk | & Sifsitnsie LI -0

Note: you have four choices for each objective type question as A, B, C and D. The choice _q/;;,)’}’j;;«ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

b ¥

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Symbol used for similarity is: ,Q@ndlﬁ“l____»xwé_ififﬁ (1)
(A) "=" (B) 2 (C) "=" o) "~ "

(2) Area of parallelogram = = kbl (2)
(A) Length x length JK_J X dw’ (B) Base x altitude (/! x JI_JJML?
(C) Length x width JJJ;; X JLJ (D) %(Base)(AItitude) %(wﬁ‘)(@tﬁﬂ)

(3) The medians of the three sides of a triangle are: T gl el Wiy gl sl (3)
(A) Collinear &% (B) Congruent JbL?‘ (C) Concurrent ,;,;1(? (D) Parallel (1%

(4) L;’E ;QJ is called marix. / et s S Hﬁ \H (4)
(A) Zero (B) Unit s (C) Scalar A~ (D) Singular st

(5) The conjugate of 5 + 4i e eli¥¥ s+ 4 (5)
(A) 5+ 4i (By=5 — 4i (C) 5 + 4i (D) 5 - 4i

(6) The logarithm of unity to any base is! _{.rm:l/.d: ____ ﬂ%’@ g {qu/ (6)
(A) 0 (B) 1 (C) 10 (D) e

(7) The degree of polynomial 4x* + 2x*y is: e af Axt 4+ 2xy 3)/:{ (7)
(A) 1 (B) 4 (C) 2 D) 3

(8) Find m sothat x*+ 4x + m isacomplete square: KLl X+ dx +m LLledS S m (8)
(A) 8 (B) -8 (C) 16 (D) 4

9) HCFof a'—h'and a*- b’ is: P G S R L R )
(A) a—b (B) a+b (C) a*+ab + b’ (D) a*—ab + b’

(10) A statement involving any ...g..JLb:‘/ o L@ngwbgéfc.uf - <L 2 ufu"ug.J/ (10)

of the symbols <, > <or > is called: (A) Equation /sl

(B) Identity ﬁ.:.a.:.gj.igf /;ur/::‘;‘ﬁ:.zf.-uﬁff (C) Inequality ..:.J:Lx;f (D) Linear equation .:-_JJL-AJ.»..{

(11) Which ordered pair satisfy the equation y = 2x 7 ‘.‘:.;_Ei.m;..jlf[ly = 2x ;:Jsl/,&ﬁwf (11)
(A) (2, 1) B)(1, 2) (C)(2, 2) (D) (0, 1)

(12) Distance between the points (1, 0)and (0, 1) is: e MGl (0, 1) s (1, 0)s  (12)
A 2 (B) 2 (C) 0 (D) 1

(13) Two lines can intersectat ______ point/points. LGESE el W (13)
(A) 1 (B) 2 C) 3 (D) 4

(14) In a parallelogram opposite angle are: Y o Ll Wi (14)
(A) Unequal .c7 (B) Equal ¢ (C) Concurrent &% (D) Non-concurrent LA

(15) The right bisectors of the sides of a triangle are: Sl Jﬂtd»fﬁwa‘vlﬁwu’( (15)

(A) Congruent fi* (B) Equal .«

(C) Concurrent &7 (D) Parallel (1%

29(SCIENCE GROUP)(Obj)( 7 3 T 3 )-2022(A)-70000 (MULTAN)



PAPER CODE 2022 (A) o 20 Al

SSC PART (9th CLASS) W

NUMBER: 1191

' MATHEMATICS (SCIENCE GROUP) GROUP- by -t (o V) S
Tmﬁ ALLOWED: 20 Minutes OBJECTIVE u’s/w e 20 =
MAXIMUM MARKS: 15 15= 4

A oh | SN 32 QL N R s S u;)‘l)éé.;&lfig)lfﬁ{_(é{d'f _L,Eéfé.) Do C:B-:A .;gb’.;@_lfédb’ﬁ -:.‘J
Lagdirat Kbt e §l )24 Fnsts b A zada eSS Sk | S ki k] <EE
Note: you have four choices for each objective type question as A, B, C and D. The choice -qﬁf}f;mv
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. 1 /JI
=1 ~J

(1) ‘Hf \H scaled  matrix. ety S [‘f \H (1)
(A Zero (B) Unit Jlob (C) Scalar A (D) Singular st

(2) The conjugate of 5 + 4i is: A LAY S+ 4i (2)
(A) -5+ 4i (B) 5 — 4i (C) 5+ 4i (D) 5—4i

(3) The logarithm of unity to any base is: YV ff@( it o ,;qu/ (3)
(A) 0 (B) 1 , (C) 10 D) e

(4) The degree of polynomial 4x* + 2x’y is: e b axt+2x7y U}Jf'( (4)
(A) 1 (B) 4 (G} 2 (D) 3

(5) Find m sothat x’ + 4x + m is a complete square: Kbl kg X+ dx +m “if_aafu’ﬁ( m (5)
(A) 8 (B) -8 (C) 16 (D) 4

6) HCFof a>— b and o' — b’ is: e WK b md b ()
(Aya—b (B) ash (©) a’ wab + b (D) a®—ab + b*

(7) A statement involving any U B hilld et £ s < L s S )

of the symbols <, >, < or = is called: (A) Equation s\~

(B) Identity srend & ad s {2 e lilai sl (C) Inequality =ib-Z (D) Linear equation whslaGik

(8) Which ordered pair satisfy the equation y = 2x ? e Gt/ y = 2x eyl (8)
(A) (2, 1) (B) (1, 2) (€ (2, 2) (Oy(0, 1)

(9) Distance between the points (1, 0)and (0, 1) is: -q.m,UGSL»/;K(O, 1) 4 (1, 0) bt (9)
(A) V2 (B) 2 (C) 0 (D) 1

(10) Two lines can intersect at point/points. -Q?Z—Ef(‘j%;m/ﬁ by (10)
(A) 1 (B) 2 (€) 3 (D) 4

(11) In a parallelogram opposite angle are: s el wgae (1)
(A) Unequal e~ (B) Equal «lx (C) Concurrent £ (D) Non-concurrent Ling

(12) The right bisectors of the sides of a triangle are: Sl Jvcd»féwwéwoj (12)
(A) Congruent J;U*' (B) Equal .\« (C) Concurrent ,iz‘ﬁl(f (D) Parallel (§15

(13) Symbol used for similarity is: ,f.f_dﬁdt.&‘l___cxwéé,,&? (13)
(A) "=" (B) s (C) "=" (D) "~ "

(14) Area of parallelogram=__ . = AELuenga (14)
(A) Length x length JL/ x $i4 (B) Base x altitude &t x (it §ou
(C) Length x width (12 x i/ (D) -%(Base)(Altitude) % (o))

(15) The medians of the three sides of a triangle are: s glbal{uegEl e (15)
(A) Collinear &% (B) Congruent -ﬁP (C) Concurrent Mr” (D) Parallel $15

29(SCIENCE GROUP)(Obj)( 7 )-2022(A)-70000 (MULTAN)



PAPER CODE 2022 (A) )
NUMBER: 1192 SSC PART-| (9th CLASS)

' MATHEMATICS (SCIENCE GROUP) GROUP-II s - ...,,I (_,,/ ) Sl
T:f& ALLOWED: 20 Minutes OBJECTIVE (&2 2420 = =Dy
MAXIMUM MARKS: 15 15 = /"’Lf

Ao /hf/b,nb—-’dl&fiuli«_«/»c;(f UJJfJZL_Jd_Lr’é_dlf//dgdl}" J'c’jd_-# D . C:B:-A ublﬁjjbﬁdff/ —d
eI Ly 'K@bL)Jﬂ’/J!(JHJ)‘GJLL/ )():/Lv -bffﬂ"bk._ﬁiu)iu..u‘fﬂjd_/g PrE s L L-f,fdubut;c_.f Pad
Note: you have four choices for each objective type question as A, B, C and D. The choice - ’/ J"/C-._,ﬂfr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
a bl x m
(1) If{j Z}{;}:[:}then e X = s [c d}{iy}z[n:]ﬂ (1)
(A) dm — bn (B) dm + bn ©) dm + bn ©) dm — bn
bc — ad ad — bc ad + be ad - bc
@ 7 =_ - S v}
® ¥ ® x° © & ©) "
(3) log, 10~ log, 10~ (3)
(A) 23.026 (B) 2.3026 (C) 0.23026 (D) 1.23026
4) dab=__ dab=__ (4)
(A)(a-b)Y-(a+b) (B)(a+b) (a-b) (C)(a+b)Y+(a-b) (D)(a+b)-(a-b)
(5) The polynomial (x — a) is a factor of the polynomial b P(a) dnd A28 P(x) L?J/é’( (x-a) ji (5)
P(x) ifandonlyif P(a)=
(A) a (By {C).0 (D) 1
(6) What should be added to complete the square of x"+ 64 ? ..?_tgc}:@/u"{(?_lfg UL x*+64 L2 (8)
(A) 64x7 (B) 16x* (C) 16x" (D) 8x
(7 x= is a solution of the inequality —2 < x < —% ,q_gf_gm&c ocx<debedx=__ (1)
(A) O (8) 3 (€) % (D) -5
(8) 1Acre~ ____ hectare. j-k/ My /‘g" (8)
(A) 0.6 (B) 0.5 (C) 0.4 (D) 0.2
(9) Mid point of the points (2, 2) and (0, 0) is: LIk (0, 0) i (2, 2) 48 (9)
(A)(1,0) (B) (0, 1) (€ (1, 1) ©) (-1, -1)
(10) Number of end points in a ray is: _c;_d,vr :Wd/u:/u"bw (10)
(A)O (B) 1 (C) 2 (D) 3
(11) Diagonals of a rectangle are: Sl _________ﬂ/“:c':Jéy (11)
(A) Collinear &5/ (B) Non-congruent I (C) Congruent JI* (D) Un equal 4zt
(12) The right bisectors of the sides ofafan ______ -rd/| Bl Kt Wl digsls _ (12)
triangle intersect each other outside the triangle.
(A) Obtuse -2 (B) Acute wb (C) Equilateral CUJJUU&LP (D) Right 4slinit
(13) Unit of ratio is: = deidesr’ (13)
(A) Meter * (B) Kilogram rl/;K (C) No one 704 (D) Second £
(14) Symbol used for therefore is: -.;..Jﬁdu&wwg_é.&'m (14)
(A) & (B) : (C) (D} -~
(15) The right bisectors of the three sides of a triangle are: Uiy Sl eiygl ek (15)
(A) Congruent f vy (B) Collinear &/ (C) Concurrent Jz'i’(? (D) Parallel ($J1#
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PAPER CODE 2022 (A) Yoo

NUMBER: 1 1 94 SSC PART-l (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-I o Nt (o) ) S

TRgE ALLOWED: 20 Minutes OBJECTIVE %/~ 220 = =Dy

MAXIMUM MARKS: 15 15= AF
S| S },.oi:-”:_)'a'.'...,.f; S U b_c_ l:‘—-Lr’i.—-L,.h)“/‘/UgQ & J‘d:c..i D~ C:B:A ui‘i.—ﬁl‘vf_dlrf Ly
{g{_,_-’f, ! _bé’g_gi.xﬂuzufuj,ﬂua__/cj; YA gjﬂj}"‘lhl‘w.‘_‘.‘?w}rw(_/n-u, Vs_/‘/ J_§ I .{_/C;,JUUUD :‘:.._._C ﬁ

Note: you have four choices for each objective type question as A, B, C and D. The choice q.u__/ J’f/f-.._,wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The right bisectors of the sides of alan _____ -2 /EAL el mflsst$liwlolins (1)
triangle intersect each other outside the triangle.

(A) Obtuse o3 (B) Acute sl (C) Equilateral LUzl fF* (D) Right o=

(2) Unit of ratio is: e doder
(A) Meter = (B) Kilogram ¢L¥  (C) No one (G (D) Second 4%

(3) Symbol used for therefore is: _;_Jﬁdtﬁ*lyi}ag’.cﬁ;}'guﬁ (3)
(A) &t B) : (C) (D) -

(4) The right bisectors of the three sides of a triangle are: Y, RS 7 71 17/ | UL A (4)
(A) Congruent (B) Collinear k57 (C) Concurrent 5% (D) Parallel (i1
[” ”[ 1- [ }then = x=_ 3 [“ ’H[ } {”ﬂ[ﬁ (5)
e dJ]_v! n ¢ dJ[_y n |
. dm = bn dm + bn dm + bn dm — bn
Al bc — ad =) ad — bc - ad + be D) ad — be

6 Y = | = e
Ay x° (B) x (Y (D) x*

(7) log, 10~ log, 10~ (7)
(A) 23.026 (B) 2.3026 (C) 0.23026 (D) 1.23026

8) 4ab=__ 4ab=____ (8

(A) (a-b)'~(a+b)" (B) (a+b): (a=b) (C)(a+b)+(a=b)" (D)(a+b)-(a- b)
(9) The polynomial (x — a) is a factor of the polynomial S P(a) wmd A28 P(x) u’;/« { X A (9)
FP(x)ifandonlyif P(a)=

(A) @ (B) x (C) 0 (D) 1

(10) What should be added to complete the square of x* + 64 ? bl WBE ¢ 6s 2 (10)
(A) 64x2 (B) 16x° (C) 16x* (D) 8x?

(1) x=____isasolutionofthe inequality -2 < x < 3 ~eetfiklberfl 0 e x <3 chisdx = (11)
) 0 ® 3 > @2 o-5

(12) 1Acre ~ hectare. i Hita & (12
(A) 0.6 (B) 0.5 (C) 0.4 (D) 0.2

(13) Mid point of the points (2, 2) and (0, 0) is: e Bk (0, 0) (2, 2) 46 (13)
(AY(1, 0) (B) (0, 1) € (1, 1) (B (=1, =1)

(14) Number of end points in a ray is: ,q..;:ln ;ﬁﬁ;fu:/uf{,bﬁ (14)
(A)0 (B) 1 (C) 2 (D) 3

(15) Diagonals of a rectangle are: -ng.,x_____}e&ﬁﬂ/ (15)
(A) Collinear L3¢~ (B) Non-congruent fb“-f/f (C) Congruent ui'ﬁt?‘ (D) Un equal 4
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PAPER CODE 2022 (A) ﬂ A

SSC PART-I (9th CLASS)

NUMBER: 1196
"MATHEMATICS (SCIENCE GROUP) GROUP-I oo (o) F) FL
TIM® ALLOWED: 20 Minutes OBJECTIVE u“if“‘,.c? w20 = =h
MAXIMUM MARKS: 15 15= A4F

Aol | S s el f e S u,/ué.f_.;c.uf_d s Q601% < f L4 D uI € B A bzl i 2
f:f_J ! -Eé:._(ai,)u../d;(gj'._«ﬂ"d/d_.f,g S -Kﬂ}:‘"’hk._«lfw’:ufuuﬂ,(a_/(/ Sk L L./Q:(us/l.ml.fcuf -
Note you have four choices for each objective type question as A, B, C and D. The choice ..u’/ J’);._«Dfr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A A
(1) 1Acre ~____ hectare. /"—[Hg__/‘g (1)
(A) 0.6 (B) 0.5 (C) 0.4 (D) 0.2

(2) Mid point of the points (2, 2) and (0, 0) is: e Bk (0, 0) w1 (2, 2) 56 (2
(A)(1,0) (B) (0, 1) C) (1. 1) (D) (-1, -1)

(3)  Number of end points in a ray is: - J!? — JU;JUVU:u"j (3)
(A) 0 (8) 1 (C) 2 (D) 3

(4) Diagonals of a rectangle are: Sl ;JLJ%;/‘ (4)
(A) Collinear (7 (B) Non-congruent JI*#  (C) Congruent Ji&* (D) Un equal £t

(5) The right bisectors of the sides of alan &/ ﬁ;&wﬁ_ WIS SY A g Y - R (5)

triangle intersect each other outside the triangle.

(A) Obtuse > (B) Acute mb {C) Equilateral C,JJ.?UIJLP‘ (D) Right slj=4

(6) Unit of ratio is: e e (8)
(A) Meter ~ (B) Kilogram ruig (C)-No one J.f"d/ (D) Second k&

(7) Symbol used for therefore is: ,‘:“.Sﬁg)b‘"‘lu:/wéi._ﬂ& (7
(A) 1 (B) : (@) (D) .-

(8) The right bisectors of the three sides of a triangle are: s el L welyE sk (8)
(A) Congruent JLF" (B) Collinear &4 (C) Concurrent Jﬁlf (D) Parallel ($ii#
a bl x m .la b x mi| .

(9) 1fL d}[y} =[ n} then x= x=__ 3 L d}[y}{n}/' 9)
(A) dm — bn (8) dm + bn c) dm + bn D) dm — bn

bc — ad ad - bc ad + bc ad - bc

(10) 3/57 = | W =___ ()
A *° B) x* ©) ¥ 0 *” |

(11) log, 10~ log, 10~ (1)
(A) 23.026 (B) 2.3026 (C) 0.23026 (D) 1.23026

(12) 4ab=__ dab = (12)

(A) (a—b)—(a+b)Y (B)(a+b) (a=b)} (C)(a+bl+(a—b)Y (D)(a+b)—(a-by
(13) The polynomial (x — @) is a factor of the polynomial Bu P(a) Il A28 P(x) L?;/i"‘/ (x—a) fi (13)
P(x)ifandonlyif P(a)=

(A) a (B) x (C) 0 (D) 1

(14) What should be added to complete the square of x* + 64 ? _ugu:d,vf@_w GULE X 64 A2 (19)
(A) 64x° (B) 16x (C) 16x* (D) 8x°

(15) x=___ isasolutionoftheinequality -2 < y <>  -cnlberfL 2yl chodr=  (15)
® 0 ®) 3 R ) =
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PAPER CODE . 2022 (A) A
NUMBER: 1198 SSC PART-I (9th CLASS)

+ MATHEMATICS (SCIENCE GROUP) GROUP-II I (h_,,/’ S

TIE ALLOWED: 20 Minutes OBJECTIVE (.o 220 = &

MAXIMUM MARKS: 15 15= A4S

P JF L ;L)//‘le’:’d&)":u—-lfu—/JJLJ sl ;Z.f__:dﬂw:dlr;—/u iz -u"dfd__) D.CB:A ...«Ll,?jjbd..dfrf s
/:/.Jlr‘u'f _gz._‘abf/'{d)(f._uﬁd/i_/ }E)ul ?fﬂ"j};hu_?u:':u.uxﬂijd_)_g /’:.-—'{ L d_./r‘g:'/u”buucd-.f ot
Note: you have four choices for each objective type question as A, B, C and D. The choice -J/ J’);._«Ulr
which you think is correct, fili that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 . 2 Ay
(1) The polynomial (x — a) is a factor of the polynomial b P(a) i 478 P(x) G (x - a) A (1)
P(x) ifandonlyif P(a)=___
(A) a (B) x (C) 0 (D) 1
(2) What should be added to complete the square of x* + 64 ? _a.waﬁ/ﬁz_w GUkt xt+64 L2 (2
(A) 64x° (B) 16x° () 16x* (D) 8x°
(3) x=_____ isasolution of the inequality -2 < x < 2 ~§—J:-W~".{Upe‘:—2 L = eedx=_ (3
(A) 0 (B) 3 - (C) 3 (D)—5 :
(4) 1Acre~____ hectare. £ Fiia A @
(A) 0.6 (B) 0.5 (C) 0.4 D) 02
(5) Mid point of the points (2, 2) and (0, 0) is: -c;_,éﬁdyw(o, 0) (2 2) b8 (5)
(A (1, 0) (B) (0, 1) €) (1, 1) (D) (-1, -1)
(6) Number of end points in a ray is: _f‘;_&x- ;fJJuj/u:Cbﬁ (6)
(A) 0 (B) 1 (C)-2 (D) 3
(7) Diagonals of a rectangle are: Ul };LJF/ (7)
(A) Collinear k¢ - (B) Non-congruent Ji#  (C) Congruent & (D) Un equal 4.zt
(8) The right bisectors of the sides ofalan 2 JEl Lkl oMbl aes; _ (8)
triangle intersect each other outside the triangle.
(A) Obtuse 5 (B) Acute )l (C) Equilateral CMUU’L"" (D) Right sz
(9) Unit of ratio is: e s 9
(A) Meter 4 (B) Kilogram (1% (C) No one U2 (D) Second 4£
(10) Symbol used for therefore is: _%éndb?lyw_iﬁé'gﬁ (10)
(A) :: (B) : (C) * (B
(11) The right bisectors of the three sides of a triangle are: Sl Al gt e (1)
(A) Congruent J‘L'r" (B) Collinear L% (C) Concurrent ,!Jﬂﬁ (D) Parallel (!5
(12) If[a b:][x}=[m}then - x = ; [a b}[q{m}ﬁ (12)
lc d ||y n — — c di| vy n
A) dm — bn B) dm + bn c dm + bn D) dm — bn
bc — ad ad — be ad + be ad — bc
13) 357 = Y7 = (13)
® ¥ ® x° ©) ¥’ ©) x e
(14) log, 10~ log, 10~ (14)
(A) 23.026 (B) 2.3026 (C) 0.23026 (D) 1.23026
(15) 4ab=__ 4ab=___ (19
(A)(a-b)Y-(a+by¥ (B (a+b) (a-b) (C)(a+by+(a-b) (D) (a + b)Y =(a-b)
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NOTE:

Write same question number

and its part number on answer book, as given in the question paper.

SECTION-I Jilo

Find H.C.F of 102xy’z, 85x%yz, 187xyz’

102xy°z, 85x’yz, 187xyz’ - V/'/r:b"fybb

Solve the equation 3—2{ o ; 4 % %x . ; SIS et
Define linear equation. -u_’/_.jc{ /TJ;,r,uL,?.m{
Draw the points on the graph paper. (-6, 4)and (4, —5) (=6, 4).1 (4, _5)aq&$4,§dl)ﬁ@£é_;
Define Cartesian Plane. _q/._éf/‘."JdPu’éf
Find the distance between two points. A(~4,2), B(-4,-3) P b
Define scalene triangle. Sy Pl oy

What is meant by $.8.S = S.8.8?

Find the unknown values of x°
in the given figure.

a
:yalma no

e dpe SSS = LS
-J"/?:L”Jfﬁd/ e m®ey® e x’ Lﬁ&fﬁé(lfﬁ

(ﬁ' JJS)

//7 Py

2022 (A)

SSC PART- (9th CLASS)
_ MATHEMATICS (SCIENCE GROUP) GROUP-I Py ._,,/ S
TIME ALLOWED: 2.10. Hours SUBJECTIVE ¢l 210 = &
MAXIMUM MARKS: 60 60 = Af

e bty I SoZE L sy (e u

2. Attempt any six parts. 12=2x6 iif f._«LliﬁliFm’c:,d/ - /Ulr’
(i)  Define rectangular matrix. ,J/Jfé/u'ﬁ' Lﬁ""" (i)
(i) IfB= E ” , then verify that (B') = B = B SYS3sAB = B Hﬂ (i)
(i) Simpiy, X=X »" Y 5 )
x>,y %= 3

(v) Evaluate (—i)’ (=i g ed ()
(v)  Findthevalue of x if log,,8 = % log,, 8 = g Jueedd x W
(vi)  Calculate log,3 x log, 25 log, 3 x log, 25 - /#ed )
(viy  Simplify R (ﬁ _1_) (JE _ LJ U i

(ﬁ " J [ j -k (il
(vii) Rationalize the denominator of | J?ﬁ » T/Z;_I_I Ludde /Z.J Soukr (Viil)
()  Factorize 128am?® — 242an’ 128am? — 242an* . [ S5 (%)
3. Attempt any six parts. 12=2x6 S feplinge 3 3 /Jay

(vi)
(vii)
(viil)

(ix)



/ﬁi’\ (2)

4. Attempt any six p ris) 12=2x6 S fe e lizge 3 44 )y
(i) In congurent trianglgs LM@ and LNO find x and m. ‘-Hz{r}vmﬁ' masl x 'u: LNO »f LMO utb‘ﬁ?*&@ » (i)
L

2+ 3 ®
MESTeiE N
(i)~ 2cm, 3cm and 5¢cm are not lengths of a triangle. ..qugwwg? 532 f.é:f,tz.df: (i)
Give reason.
(i)  Define ratio. S fles i
(iv)  State converse of pythagoras theorem. -g,{ ug..wi G’A’ff (iv)
(v)  Define interior of a rectangle. ' -:ébi_)/muﬁfﬁfa (v)
(vi)  Verify that the triangle having e Mt LYl oL c = 13cm s b= 12em < a = 5cm JE g8 (i)
measures of sides is right-angled a=5cm, b=12cm and ¢ = 13cm
(vi)  Find the area. | éfﬁ‘,}) (vii)
8 cm '
= /
—
(vii}  Define incentre of the triangle. ~§_é’/‘ju/ (Au) )}Juﬂzﬁw (viii)

(iX)  Constructtriangle XYZ inwhich mZX = 6.dcm, mYZ = 2.4em, mZY =90° Jis ek XYZ &b (i)
SECTION-I (3.2 |
24=8x3 el 9 Am L felnl et § wd
NOTE: Attempt any three questions. ‘Question No.9 is compulsory.
5.(A) Solve by using the matrix inversion method. 4x +2y =8, 3x-y=-1 -»éJLJxJJIa'LUXIF ()5

P+q q+r .
8) Simpliy. [E_J . (_‘L] s5(@n.a7 Y, a%0 IS
a a
6.(A) Use logarithm to find the value of (1:23) E0'6975) (1.23) (0.6975) -qfr)"c«f:_u&%f) ()6
(0.0075)(1278) (0.0075)(1278)
(B) m+n+p=10 -Q)?:L”.;«Ed/ m’+n’+ p’ I mn+ np + mp =27 ,ulm+?’1+p=10ff (&)

and mn + np + mp =27 | then find the value of m’ + n* + p*

7.(A) Factorize the polynomial by factor theorem. 30— x2—12x + 4 SN fc.uu(df;ff (-7
2 2 2 _ - ” .
(B) Simplify to the lowest form, X+ X =6, * —4 ¥ +X=6 x4 pEplge (L)
Xl x*—9 Yreg=§ =0
8.(A) Solve the equation Eghé:i—)» —x= l—g— S(x-3) _ % =] ..J’/‘E',h’qd’fabl/ ()-8
6 9

mAB =2.4cm, mAC =32cm, msZA4 =120° _g_g.b"ﬂ'ﬁuquaﬁﬂu_‘g_iﬂl:d»@:@ﬁ*éulp{bzw ABC (o)
(B) Construct the triangle ABC. Draw the perpendicular bisectors of their sides and verify their concurrency.
mAB = 2.4cm, mAC =32cm, mZ4 =120°
Loy et L 5 s ool Uy oL BB LI St -9
9. Prove that: Any pont equidistant from the end points of a line segment is on the right bisector of it.
OR |
Sundet smuni e bl FoEs Sy et

Prove that; Triangles on equal bases and equal altitudes are equal in area.
31(SCIENCE GROUP)-2022(A)-60000 (MULTAN)
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